Contents:

«1xELO Pay 10"

« 1 x Base Plate

« 1 x Flat Head Screw: M4 x 12mm long @
+ 1 x Pan Head Screw: M3 x 7mm long (2)

Learn more about Elo at EloTouch.com

America Europe (EMEA) Asia Pacific
Tel +1 408 597 8000 Tel +32 16 930 136 Tel +86 (21) 3329 1385
EloSales.NA@elotouch.com EMEA.sales@elotouch.com EloAsia@elotouch.com

The information in this document is subject to change without notice. Elo Touch Solutions, Inc. and its Affiliates
(collectively “Elo” ) makes no representations or warranties with respect to the contents herein, and specifically
disclaims any implied warranties of merchantability or fitness for a particular purpose. Elo reserves the right to revise
this publication and to make changes from time to time in the content hereof without obligation of Elo to notify any
person of such revisions or changes.

No part of this publication may be reproduced, transmitted, transcribed, stored in a retrieval system, or translated into
any language or computer language, in any form or by any means, including, but not limited to, electronic, magnetic,
optical, chemical, manual, or otherwise without prior written permission of Elo Touch Solutions, Inc.

Elo and the Elo logo are either trademarks or registered trademarks of Elo Touch Solutions, Inc.

© 2024 Elo Touch Solutions, Inc. All rights reserved.

.eo% "T, {8 IEHHTN R —
U QIG600286

S22y,

Quick Installation Guide
Elo Pay 10"

Revision A
P/N QIG600286

www.EloTouch.com



Attach Accessory Cover to M100
using (2) M2.5 x 4mm long screws.
Attach (2) adhesive backed screw covers.

If need to attach SCANNER ACC.
Front Camera

SCR Slot
© Scan Trigger/ Programmable Button

|

Assemble optional stability plate to dock
using (1) M4 x 12mm long screw.(1)

Power Button

Scan Trigger/ Programmable Button Volume Up Button

Volume Down Button

2 x Speaker

(1) M3 x 7mm long (2) rotation stop screw. Or use M4 threaded hole to

mount dock to table / counter
(stability plate not used in this case)




